HE

& B e e e ey N | ER B
fﬁ{"“] \3-&5 H F2; - W3] Sdani) 2 B
LA 2 AD+A0)=2 » H2006)= 2

2. i A e b Ry —RASE(— 1L —7)~ (0, — DR
FILA—9)+A9) +/99) + A —99)fi4 i KL 2

3. i g(n) = —2x+3ZHETAx) = — 1 [T R AR
4. ) =ax— 15 g(x)= —2x+4 F’m[ﬁiwﬂ\ gﬂﬁi Xl s Bl a=

A
B,
5. LE K VA= 2r— 6 PO SRR R x By BT
FOESTHHL R RO o 1 4 B L :
6. F VP = — 8-+ 3 ANHIEE s —a U LAN6 —43) Wla=?

7. BIRRRELE RIS I R 600 R[4 T E %’@4 o]
BRI 7f“fﬁﬂjﬂf*§" » SIHIE 4 Jﬁﬂjgum'bg&ﬁrum B g( Sk

(DRZIEI S 125 THY 102 Dot ; e ()
()= 112 HIEp 1 G 2450 A - F MR a PR 2 a KRR P2 H TR S RN N

” 16 Sl S L g ek e e a1
8. + Ejy=", y=lbx+1-y=16 ‘y:x1—6 DU Ee > F L TRFREerYE) a fi o AR E b
E[Ja—i—b— ?

9.\ FHEAD) = (K — 4 —2x-+k+2 FOPSEBE R HIA—2)= 2

10. f(X)t“ KR 2 A3) A S D=3 050 < ) =2 PR EE x iy JARiS =
pl*ﬂ%um

11. %ﬁ‘@?ﬂx):ax—l—b » FA0)—A—5)=5"fla=?
12._("* ’\1}5()/ ax—i—bﬁJE;ﬂ”I ﬂ;H(l —D~2,-2)~4.,k= g’!‘ Il k= °

1375 8 Pl ey =MAOpIRPag(—1,4) > (0,3) ~ (1,0~ 2, 1)~ 3,2) ~ (4, D Wi
E‘lJﬂ0)+f(1)+f(2)+ﬂ4)——

14, il Ao0 = av—2 FOPHET ~ = - PSIEL [a 0+ 4>~ =F5<)
15, =13= NHBEAx) =2x+a FI )= —3x—b EIUQ%”%?'?%!T& x i =5 flla b= °
16,5 =00 =R D+ -+ 1SS RS Iy =fn = :

17,7 LA o = i) =ax* +bx’ +ex’ +dx+e L'/[ﬁmﬁifi@(l ,3I)R(—1, =5 Hlatb+ct+d+e= -

18. Sy =) =ax+b » & y=A1)=7» y=f—1)=3 - [ :
() y=f=2 @ Fley=AHEREIES = E YL %] 2

20. /] AN E R~ S EE > SRR o xR F Ry A BT 2 e SRy
y=fx)=ax+b F}‘[E‘Wﬁ%l’% ST 0.1 2~ 3 EIETp 0.5 o o JlI A12)= 2



